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Section : General Intelligence

Q1

Ans

Three statements are given, followed by three conclusions numbered I, II and III. Assuming the statements to be true,
even if they seem to be at variance with commonly known facts. decide which of the conclusions logically follow(s)
from the statements.

Statements:

No photographer is an architect.
All engineers are photographers.
All postmen are architects.

Conclusions:

L. No engineer is an architect.

II. No engineer is a postman.

III. No photographer is a postman.

/< 1. Only conclusions I and III follow

v 2. All conclusions follow

< 3. Only conclusion I follows

/< 4. Only conclusions I and II follow

Question ID : 8161614525
Status : Answered
Chosen Option : 2

Q.2

Ans

‘Which two signs should be interchanged to make the given equation correct?

25+21+3-35x5=81
X 1. +and—
W 2 +and x
X 3 +and x
&4 % and —

Question ID : 8161614528
Status : Answered
Chosen Option : 2
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Q.3 Ina code language, if FASTER is written as 2118759 and MONK is written as 14151316, then how will GUARD be
written in the same language?

Ans  of 1. 20211923
X 2. 2061923
X 319211922
X 4 7211922

Question ID : 8161614519

Not Attempted and
Marked For Review

Chosen Option : ==

Status :

Q.4 select the correct mirror image of the given combination when the mirror is placed to its right side.

65rfgQB

" x80pi1co
:e+td 0B
v-80ptica
- 8d0ph11c0

Question ID : 8161614532
Status : Answered
Chosen Option : 3

Q.5 Select the option that represents the letters that, when placed from left to right in the blanks below, will complete the
letter series.

L KC 0Q CLO ¢

Ans X1 OQLOQC
X 2. QOLKQK
X 3 OKOQCQ
v 4 OQLKQK

Question ID : 8161614520
Status : Answered
Chosen Option : 4
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Q.6 1Inacode language, TONGUE is written as FHOPUV. How will RADIUM be written in that language?

Ans X' 1. CGKORW
v 2 BEINSV
X 3. BETVSN
X 4. BFNIVS

Question ID : 8161614516
Status : Not Answered
Chosen Option : ==

Q.7 Inacode language, PASTORAL is written as TSAPLARO. How will SEMESTER be written in that language?

Ans X' 1. EMESERST
X 2. EMSEREST
X 3. EMSEERTS
v 4 EMESRETS

Question ID : 8161614515
Status : Answered
Chosen Option : 4

Q.8 1Ina code language, if RELATED is written as 72, then how will FRANCE be written in the same language?

Ans X 1. 47
V2 53
X 3 63
X 4 57

Question ID : 8161614518
Status : Answered
Chosen Option : 2

Q.9 Ina code language, if REAL is written as 365124, then how will CART be written in the same language?

Ans X 1. 611938
X 2 313620
v 3 611840
X 4. 311820

Question ID : 8161614517
Status : Answered
Chosen Option : 3

(4)
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Q10 Which number will replace the question mark (?) in the following series?

83, 149, 230, 327, 7
Ans  of 1. 44]

X 2. 447

K 3. 436

< 4. 4390

Question ID : 8161614526
Status : Answered
Chosen Option : 1

Q.11 Pointing to the photograph of Vatsalya, Janhvi said, "He is my brother’s paternal grandfather’s wife’s only son". How is
Vatsalya related to Janhvi’s mother?

Ans X 1. Brother
X 2. Son
X 3. Father
v 4 Husband

Question ID : 8161614522
Status : Answered
Chosen Option : 4

Q.12 Select the option that is related to the third number in the same way as the second number is related to the first number.

14 238 09207

Ans  of 1. 550
X 2 270
X 3. 655
X 4. 440

Question ID : 8161614527
Status : Not Answered
Chosen Option : ==

Q.13 Select the letter-cluster that is related to the third letter-cluster in the same way as the second letter-cluster is related to
the first letter-cluster.

LZS:0ODX ::KRA:?
Ans  of 1. NVF
X 2. NVE
X 3. MVG
X 4. NUF

Question ID : 8161614508
Status : Answered
Chosen Option : 1

®)
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Q.14 If ‘A S B’ means ‘A is the sister of B’, ‘A % B’ means ‘A is the father of B” and ‘A # B’ means “A is the mother of B,
then how is K related to Z in the following expression?

K#QSL%Z#T

Ans % 1. Maternal grandmother

« 2 Paternal grandmother

/< 3. Mother
/< 4. Mother-in-law

Question ID : 8161614523
Status : Answered
Chosen Option : 2

Q.15 Ina code language. SEWING is written as RDVIOH. How will CARPET be written in that language?
Ans i 1 B ZQ‘QFU

X 2. BZQOFV

/< 3. BBQRFU

X 2 DBSQFU

Question ID : 8161614514
Status : Answered
Chosen Option : 1

(6)
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Q.16 Select the option in which the given figure is embedded (rotation is NOT allowed).

Ans

&)
®

X s

W 4

Question ID : 8161614531

Status : Answered

Chosen Option : 2

Q.17 Select the option that represents the letters that, when placed from left to right in the blanks below, will complete the
letter series.

w_dm_p_r_mo_u_d_op
Ans X4 rouporm
X2 poudpdm
W3 roudprm
K 4rodpurpo

Question ID : 8161614521

Status : Not Answered

Chosen Option : --

(7)
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Q18 gelect the dice(s) that can be formed by folding the given sheet.

Ans

w

3l2) [s514) 114 |+«

A B c D

/< 1. OnlyAandC
/< 2 OnlyD

3 OnlyCandD
/<4 OnlyB.Cand D

Question ID : 8161614530
Status : Answered
Chosen Option : 3

Q.19 Two statements are given, followed by two conclusions numbered I and II. Assuming the statements to be true, even if

Ans

they seem to be at variance with commonly known facts, decide which of the conclusions logically follow(s) from the

statements.

Statements:
All nurses are gods.

Some nurses are doctors.

Conclusions:
L Some gods are nurses.
II. Some doctors are gods.

+ 1. Both conclusions I and II follow
/< 2. Only conclusion IT follows

/< 3. Either conclusion I or II follows

/< 4. Only conclusion I follows

Question ID : 8161614524
Status : Answered
Chosen Option : 3

(8)
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Q20 gelect the figure that will come next in the following figure series.

7 X[= 7lx =¥ =%
- * ¥ £
*

Ans

x¥
¥

Ll B
%

*
n

xa]l XE

Question ID : 8161614529
Status : Answered
Chosen Option : 2

Q21 :slow" is related to ‘Rapid’ in the same way as *Criticise” is related to *
Ans 1. Spurious
X 2. Owner
/< 3. Original
v * Praise
Question ID : 8161614513

Status : Answered
Chosen Option : 4

©)
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Q.22 Select the option that represents the correct order of the given words as they would appear in an English dictionary?

1. National
2. Nothing
3. Nature

4. Notional
5. Notorious

Ans % 11,2,3,4,5
X21,3,2,54
X3 4,3,2.1,5
V41,3245

Question ID : 8161614510
Status : Answered
Chosen Option : 4

Q.23 Select the correct option that indicates the arrangement of the following festivals in the order of the occurrence in India.

1. Catholic Christmas
2. Republic Day

3. Children’s day

4. Gandhi Jayanti

5. Independence Day

Ans 1.4 5.3 9
v2 25431
Ks1.54:32
X 421,543

Question ID : 8161614511
Status : Answered
Chosen Option : 2

Q.24 Select the letter-cluster that is related to the third letter-cluster in the same way as the second letter-cluster is related to
the first letter-cluster.

KIST: PDXO::AGVE:?

Ans  of 1. VLAZ
X 2 FLAA
X3 VLZZ
X 4 UKAZ

Question ID : 8161614509
Status : Answered
Chosen Option : 1

(10)
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Q.25 ‘Handkerchief” is related to *Cloth’ in the same way as *Necklace’ is relatedto© .
Ans X 1. Women

X 2. Goldsmith

v 3 Gold

X 4 Neck

Question ID : 8161614512
Status : Answered
Chosen Option : 3

Section : English Language

Q.1 Select the correct passive form of the given sentence.

How many languages can you speak?

Ans J 1. How many languages can be spoken by you?
x 2. How many languages can be spoke by you?
x 3. How many languages are being spoken by you?

x 4. How many languages have been spoken by you?

Question ID : 8161614534
Status : Answered
Chosen Option : 2

Q.2 Given below are four sentences that are jumbled. Pick the option that gives the correct
order.

A. They brought glory to themselves and victory to their country.
B. Peace also has its own victories.

C. But victory is not won only in war.

D. Great conquerors left an imprint on time.

Ans o 1 DACB

/< 2. ABCD

/X 3.BCAD
75 4.CADB

Question ID : 8161614542
Status : Answered
Chosen Option : 1

Q.3 Select the most appropriate antonym of the given word.

FRUGAL
Ans “ 1. spendthrift

x 2. stingy
25 3. thrifty
x 4. noble

Question ID : 8161614544
Status : Answered
Chosen Option : 4

(11)
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Q.4 Select the most appropriate synonym of the given word.

GHASTLY
Ans X" 1 comical

x 2. musical
75 3. playful
o 4. frightful

Question ID : 8161614543
Status : Answered
Chosen Option : 4

Q.5 Select the correct indirect form of the given sentence.

He said to his uncle, “l will meet you at the station tomorrow.”

Ans x 1. He said to his uncle that he will meet you at the station tomorrow.

\f 2. He told his uncle that he would meet him at the station the next day.
x 3. He told to his uncle that he would meet you at the station the next day.

x 4. He told his uncle that he will meet him at the station the next day.

Question ID : 8161614536
Status : Answered
Chosen Option : 2

Q.6 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select 'No substitution'.

The news were broadcasted last evening.

Ans X" 1. were broadcast
x 2. No substitution
f 3. was broadcast

x 4. has been broadcasted

Question ID : 8161614538
Status : Answered
Chosen Option : 3

Q.7 Identify the segment in the sentence which contains the grammatical error.

| could not take his car because it was repairing.
Ans X" 1. take his car

x 2. because it
x 3. | could not

J 4. was repairing

Question ID : 8161614533
Status : Answered
Chosen Option : 2

(12)
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Q.8 Select the most appropriate option to fill in the blank.

He is not to driving in heavy traffic.
Ans X' 1 addicted

x 2. acquainted
« 3. accustomed

x 4. addressed

Question ID : 8161614541
Status : Answered
Chosen Option : 3

Q.9 Select the most appropriate meaning of the underlined idiom in the given sentence.

Call centres have become a part and parcel of the commercial world.
Ans x 1. An unwanted addition

x 2. A'luxury item
x 3. A marketing strategy

“ 4. An essential element

Question ID : 8161614545
Status : Answered
Chosen Option : 3

Q.10 Select the correct direct form of the given sentence.

She asked me how long | had been waiting for her.

Ans x 1. She said to me, “How long you have been waiting for me?”

x 2. | said to her, “How long have you waited for me?”
« 3. She said to me, “How long have you been waiting for me?”

x 4. She said to me, “How long had | been waiting for her?”

Question ID : 8161614537
Status : Answered
Chosen Option : 1

Q.11 Select the correct one word substitution for the given words.

The right to vote in public elections
Ans “ 1. Franchise

75 2. Equality
X 3. Liberty
x 4. Finance

Question ID : 8161614546
Status : Answered
Chosen Option : 3

(13)
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Q.12 Select the misspelt word.
Ans x 1. Accessible

75 2. Affable
( 3. Permissable

X 4. Tolerable

Question ID : 8161614547
Status : Answered
Chosen Option : 2

Q.13 Select the most appropriate option to fill in the blank.

You ought to be with children.
Ans x 1. priceless

x 2. precious
“ 3. patient

x 4. perpetual

Question ID : 8161614540
Status : Answered
Chosen Option : 3

Q.14 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select 'No substitution’.

He informed his programme to me .
Ans X" 1. No substitution

x 2. to me his programme
x 3. myself about his programme

« 4. me of his programme

Question ID : 8161614539
Status : Answered
Chosen Option : 4

Q.15 Select the correct active form of the given sentence.

Is that bird seen by you?
Ans J 1. Do you see that bird?

/X 2. Did you see this bird?
x 3. Are you seeing that bird?

75 4.Did you saw that bird?

Question ID : 8161614535
Status : Answered
Chosen Option : 2

(14)
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Q.16
Ans

Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

Generation gap is a much talked (1) phenomenon today. It indicates the wide hiatus
(2) the young from the old. Sometimes, the (3) is so wide that there hardly
(4) to be any possibility of bridging it. However, the (5) between the young and

the old is not a characteristic of modern times alone.

SubQuestion No : 16
Select the most appropriate option to fill in blank no. 1.

25 1. along
25 2. across
W 3. about
x 4. among

Question ID : 8161614549
Status : Answered
Chosen Option : 3

Q.17
Ans

Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

Generation gap is a much talked (1) phenomenon today. It indicates the wide hiatus
(2) the young from the old. Sometimes, the (3) is so wide that there hardly
(4) to be any possibility of bridging it. However, the (5) between the young and

the old is not a characteristic of modern times alone.

SubQuestion No : 17
Select the most appropriate option to fill in blank no. 2.

x 1. surrounding
X 2. attaching

« 3. separating
X 4. between

Question ID : 8161614550
Status : Answered
Chosen Option : 3

(19)
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Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

Generation gap is a much talked (1) phenomenon today. It indicates the wide hiatus
(2) the young from the old. Sometimes, the (3) is so wide that there hardly
(4) to be any possibility of bridging it. However, the (5) between the young and

the old is not a characteristic of modern times alone.

SubQuestion No : 18
Q.18 Select the most appropriate option to fill in blank no. 3.

Ans 2 1 coast
o 2 gulf
2 3.bay
x 4. crater

Question ID : 8161614551
Status : Not Answered
Chosen Option : ==

Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

Generation gap is a much talked (1) phenomenon today. It indicates the wide hiatus
(2) the young from the old. Sometimes, the (3) is so wide that there hardly
(4) to be any possibility of bridging it. However, the (5) between the young and

the old is not a characteristic of modern times alone.

SubQuestion No : 19
Q.19 Select the most appropriate option to fill in blank no. 4.

Ans  of 1. appears
5 2. arises
25 3. alights
5 4. arrives

Question ID : 8161614552
Status : Answered
Chosen Option : 1

(16)
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Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each number.

Generation gap is a much talked (1) phenomenon today. It indicates the wide hiatus
(2) the young from the old. Sometimes, the (3) is so wide that there hardly
(4) to be any possibility of bridging it. However, the (5) between the young and

the old is not a characteristic of modern times alone.

SubQuestion No : 20
Q.20 Select the most appropriate option to fill in blank no. 5.

Ans « 1. disagreement
x 2. disarmament
x 3. disablement

x 4. disbursement

Question ID : 8161614553
Status : Answered
Chosen Option : 1

Comprehension:
Read the passage and answer the questions.

Over the last sixty years, millions of rupees have undoubtedly been spent on child care in the
country. Yet, India is the home of most malnourished children in the world. The reasons for
malnutrition among Indian children are not far to seek. It is a multilevel problem that involves
adequate mother and child care in terms of easy access to health facilities, potable drinking
water, environmental sanitation and of course, literacy.

Neither the setting up of the National Nutrition Council in 1994, nor the Integrated Child
Development Scheme launched in 1975, has made any visible difference in the sordid
situation. The most urgent areas of attention and immediate action are nutrition, health and
education of children, whose well- being reflects the health of the society. Since the causes of
malnutrition of children are many, like exploding population, bias against the female child,
weak and suffering mothers, the remedy calls for ‘care of the mother’ and ‘care by the
mother’, besides effective population control. Ignorance of what food should be taken is
another contributory factor that results in malnutrition among women and children. On paper,
we have plenty of policies and programmes, but as far as performance is concerned, we have
earned much notoriety. The implementation of various schemes to fight the menace of
malnutrition and undernourishment of children requires planning, coordination and close
monitoring by high-powered bodies right down to the village level.

Unfortunately, the purpose of strengthening the capacities of the communities and of those
who care, has failed to deliver the goods because the schemes envisaged have had only
marginal impact in the area where it is most wanting and woeful. The need of the hour is to
translate the schemes into deeds and results, what we have tried to sell in the form of
promises and populist pronouncements.

SubQuestion No : 21
Q.21 The passage focusses on the problem of:

Ans X" 1 over-population
x 2. education
\f’ 3. malnutrition

x 4. sanitation

Question ID : 8161614556
Status : Answered
Chosen Option : 3

(17)
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Comprehension:
Read the passage and answer the questions.

Over the last sixty years, millions of rupees have undoubtedly been spent on child care in the
country. Yet, India is the home of most malnourished children in the world. The reasons for
malnutrition among Indian children are not far to seek. It is a multilevel problem that involves
adequate mother and child care in terms of easy access to health facilities, potable drinking
water, environmental sanitation and of course, literacy.

Neither the setting up of the National Nutrition Council in 1994, nor the Integrated Child
Development Scheme launched in 1975, has made any visible difference in the sordid
situation. The most urgent areas of attention and immediate action are nutrition, health and
education of children, whose well- being reflects the health of the society. Since the causes of
malnutrition of children are many, like exploding population, bias against the female child,
weak and suffering mothers, the remedy calls for ‘care of the mother’ and ‘care by the
mother’, besides effective population control. Ignorance of what food should be taken is
another contributory factor that results in malnutrition among women and children. On paper,
we have plenty of policies and programmes, but as far as performance is concerned, we have
earned much notoriety. The implementation of various schemes to fight the menace of
malnutrition and undernourishment of children requires planning, coordination and close
monitoring by high-powered bodies right down to the village level.

Unfortunately, the purpose of strengthening the capacities of the communities and of those
who care, has failed to deliver the goods because the schemes envisaged have had only
marginal impact in the area where it is most wanting and woeful. The need of the hour is to
translate the schemes into deeds and results, what we have tried to sell in the form of
promises and populist pronouncements.

SubQuestion No : 22
Q.22 Which organisation was set up to tackle the problem of malnutrition?

Ans X 1. Integrated Child Development Scheme
X 2. National Literacy Mission
( 3. National Nutrition Council

X 4. Population Control Mission

Question ID : 8161614555
Status : Answered
Chosen Option : 3

(18)
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Comprehension:
Read the passage and answer the questions.

Over the last sixty years, millions of rupees have undoubtedly been spent on child care in the
country. Yet, India is the home of most malnourished children in the world. The reasons for
malnutrition among Indian children are not far to seek. It is a multilevel problem that involves
adequate mother and child care in terms of easy access to health facilities, potable drinking
water, environmental sanitation and of course, literacy.

Neither the setting up of the National Nutrition Council in 1994, nor the Integrated Child
Development Scheme launched in 1975, has made any visible difference in the sordid
situation. The most urgent areas of attention and immediate action are nutrition, health and
education of children, whose well- being reflects the health of the society. Since the causes of
malnutrition of children are many, like exploding population, bias against the female child,
weak and suffering mothers, the remedy calls for ‘care of the mother’ and ‘care by the
mother’, besides effective population control. Ignorance of what food should be taken is
another contributory factor that results in malnutrition among women and children. On paper,
we have plenty of policies and programmes, but as far as performance is concerned, we have
earned much notoriety. The implementation of various schemes to fight the menace of
malnutrition and undernourishment of children requires planning, coordination and close
monitoring by high-powered bodies right down to the village level.

Unfortunately, the purpose of strengthening the capacities of the communities and of those
who care, has failed to deliver the goods because the schemes envisaged have had only
marginal impact in the area where it is most wanting and woeful. The need of the hour is to
translate the schemes into deeds and results, what we have tried to sell in the form of
promises and populist pronouncements.

SubQuestion No : 23
Q.23 So far, the implementation of policies and schemes to fight malnutrition has:

Ans X 1. increased malnutrition
X 2. been totally successful
X 3. yielded promising results

Q_f 4. had a marginal impact

Question ID : 8161614558
Status : Answered
Chosen Option : 4

(19)
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Comprehension:
Read the passage and answer the questions.

Over the last sixty years, millions of rupees have undoubtedly been spent on child care in the
country. Yet, India is the home of most malnourished children in the world. The reasons for
malnutrition among Indian children are not far to seek. It is a multilevel problem that involves
adequate mother and child care in terms of easy access to health facilities, potable drinking
water, environmental sanitation and of course, literacy.

Neither the setting up of the National Nutrition Council in 1994, nor the Integrated Child
Development Scheme launched in 1975, has made any visible difference in the sordid
situation. The most urgent areas of attention and immediate action are nutrition, health and
education of children, whose well- being reflects the health of the society. Since the causes of
malnutrition of children are many, like exploding population, bias against the female child,
weak and suffering mothers, the remedy calls for ‘care of the mother’ and ‘care by the
mother’, besides effective population control. Ignorance of what food should be taken is
another contributory factor that results in malnutrition among women and children. On paper,
we have plenty of policies and programmes, but as far as performance is concerned, we have
earned much notoriety. The implementation of various schemes to fight the menace of
malnutrition and undernourishment of children requires planning, coordination and close
monitoring by high-powered bodies right down to the village level.

Unfortunately, the purpose of strengthening the capacities of the communities and of those
who care, has failed to deliver the goods because the schemes envisaged have had only
marginal impact in the area where it is most wanting and woeful. The need of the hour is to
translate the schemes into deeds and results, what we have tried to sell in the form of
promises and populist pronouncements.

SubQuestion No : 24
Q.24 Which of the following statements can be inferred from the passage?

Ans Q_f 1. Malnutrition is still a huge problem in India.
X 2. Malnutrition will cease to exist if there is 100% literacy.
X 3. Education about balanced diet is essential at the village level.

x 4. Millions of rupees should not be wasted on programmes to fight malnutrition.

Question ID : 8161614559
Status : Answered
Chosen Option : 1

(20)
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Comprehension:
Read the passage and answer the questions.

Over the last sixty years, millions of rupees have undoubtedly been spent on child care in the
country. Yet, India is the home of most malnourished children in the world. The reasons for
malnutrition among Indian children are not far to seek. It is a multilevel problem that involves
adequate mother and child care in terms of easy access to health facilities, potable drinking
water, environmental sanitation and of course, literacy.

Neither the setting up of the National Nutrition Council in 1994, nor the Integrated Child
Development Scheme launched in 1975, has made any visible difference in the sordid
situation. The most urgent areas of attention and immediate action are nutrition, health and
education of children, whose well- being reflects the health of the society. Since the causes of
malnutrition of children are many, like exploding population, bias against the female child,
weak and suffering mothers, the remedy calls for ‘care of the mother’ and ‘care by the
mother’, besides effective population control. Ignorance of what food should be taken is
another contributory factor that results in malnutrition among women and children. On paper,
we have plenty of policies and programmes, but as far as performance is concerned, we have
earned much notoriety. The implementation of various schemes to fight the menace of
malnutrition and undernourishment of children requires planning, coordination and close
monitoring by high-powered bodies right down to the village level.

Unfortunately, the purpose of strengthening the capacities of the communities and of those
who care, has failed to deliver the goods because the schemes envisaged have had only
marginal impact in the area where it is most wanting and woeful. The need of the hour is to
translate the schemes into deeds and results, what we have tried to sell in the form of
promises and populist pronouncements.

SubQuestion No : 25
Q.25 Which of these does NOT contribute to mother and child welfare?

Ans \f’ 1. Bias against the girl child
x 2. Safe drinking water
x 3. Healthcare facilities

x 4. Proper sanitation

Question ID : 8161614557
Status : Answered
Chosen Option : 1

de

Q.1 Acertain sum is divided between A B, C and D such that the ratio of shares of Aand Bis4 : 3. thatof Band Cis5: 8
and that of C and D is 2 : 5. If the difference between the shares of B and D is 32,250, then the original sum is:

Ans X 1. 35,800
X 2. 5,900
W 3 ¥5,950
X 4. 5,850

Question ID : 8161614570
Status : Not Answered
Chosen Option : ==

(21)
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Q.2 Ashopkeeper earns a profit of 25% when he sells an article by allowing 20% discount on its marked price. If the cost

price of the article is decreased by 20%. how much discount percent should he allow now on the same marked price so

as to earn the same percentage of profit as earlier?

Ans X' 1. 329%
v 2 36%
X 3 35%
X 4. 40%

Question ID : 8161614564
Status : Answered
Chosen Option : 3

Q.3

If x2 — 24/5x+ 1 = 0. then which of the following is the value of x3 + ﬁ ?

Ans X 1. 34
X 2 1445
X 3 46
v 4 344/5

Question ID : 8161614577
Status : Not Answered
Chosen Option : ==

Q.4 Aworks twice as fast as B, whereas A and B together can work three times as fast as C. They all work together on a job

and get a sum of 17,136 for the completion of the job. The share of A is:

Ans 1. T12.852
X2 35712
X 3 311,424
W 4 T8.568

Question ID : 8161614572
Status : Answered
Chosen Option : 4

Q.5 Letd+2(2b+c) =19, What will be the remainder when the 4-digit number abed is divided by 87

Ans X 1.
X 2
F 3
v

~

s

5
0
3

Question ID : 8161614560
Status : Answered
Chosen Option : 4

(22)
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Q.6

Ans

L 3 I T X T (A R S 5

If (cosect — sin®)(sect — cosf)(tand + cotf) —tanf = 0, 0° < 8 < 90°, then the value of2eesteind g

W
X 2

Scosf-sing

Question ID :
Status :

Chosen Option :

8161614580

Not Attempted and
Marked For Review

Q.7 InAABC. £C =90° D is the midpoint of BC: and DE | AB at E. If AB = 13 cm and BE = 5 cm, then the area of the

Ans

v 1 130 cm?
X 2100 cm?
X 3 120 cm?
K 4 125 cm?

square drawn on BC is equal to:

Question ID :
Status :

Chosen Option :

8161614578

Not Attempted and
Marked For Review

Q.8 The ratio of the heights of a right circular cone and a right circular cylinder is 8 : 9 and the ratio of the radii of their

Ans

44

v 2
X 3. 66

S 4

33

bases is 3 : 4. If the volume of the cylinder is 132 cm’, then the volume (in cm3) of the cone is:

F 8

Question ID :

Status :

Chosen Option :

8161614574

Not Attempted and
Marked For Review

Q.9  The average of 4-digit numbers 1x44, x345, 3356 and 41x3 is 2767. What is the average of 6x, 5x+ 3 and 7x + 32

Ans

.15
14
i i
i -

Chosen Option :

Question ID : 8161614563
Status : Not Answered
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Q.10

Ans

Study the below table and answer the question.
The number of students enrolled for a Vocational Course (VC) in Institutes A, B, C, D and E during 6 years:

Year | 2014 | 2015 | 2016 | 2017 | 2018 | 2019
Instits

A 108 116 120 132 128 146

B 122 | 127 | 128 | 136 | 143 | 144

[ 146 141 148 145 174 206

D 135 142 158 152 160 193

E 149 [ 154 [ 156 | 178 | 212 | m1

The average number of students enrolled in VC in Institute C in six years is what percentage more than the number of

students enrolled in Institute E in 2015 (correct to one decimal place)?

X 1. 3.6%
X 2 4.6%
X 3. 4.2%
v 4 3.9%

Question ID : 8161614583
Status : Not Answered
Chosen Option : ==

Ans

-
-5
9

QM 1fa®+ b? +¢® —3abc= 126, a+ b +c = 6, then the value of (ab + bc + ca) is:
- 8

Question ID : 8161614576
Status : Not Answered
Chosen Option : ==

Ans

W 5§
X 2 42
4} 5%
X 4 4i

Q12 4 person rows a distance of 20 km upstream and 15 km downstream in a total time of 2 i hours. If the speed of the
current is 4 km'h, then in how many hours can he row a distance of 64 km upstream?

Question ID : 8161614573
Status : Not Answered
Chosen Option : ==

(24)
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Q.13 When 93, 119 and 158 are divided by the integer n(n > 1), the remainder in each case is d. What is the value of

Ans

n+d)?

X117
K219
X3 14
v 15

Question ID : 8161614561
Status : Not Answered
Chosen Option : ==

Q.14 The income of A is 80% of B’s income, and the expenditure of A is 75% of B’s expenditure. If A’s income is 90% of B's
expenditure, then the savings of A is x% more than that of B. What is the value of x?

Ans

X125
v 2 20
X3 15
X 4 30

Q.15 Study the below table and answer the question.
The number of students enrolled for a Vocational Course (VC) in Institutes A, B, C, D and E during 6 years:

Ans

Year | 2014 | 2015 | 2016 | 2017 | 2018 | 2019
Instit

A 108 116 120 132 128 146

B 122 127 128 136 143 144

C 146 141 148 145 174 206

D 135 142 158 152 160 193

E 149 154 156 178 212 211

Question ID : 8161614565
Status : Not Answered
Chosen Option : ==

The total number of students enrolled in VC in Institutes C, D and E in 2017 exceeds the total number of students

enrolled in Institute B in 2015, 2017 and 2019 by x, where x lies between:

v 1. 60 and 70
& 2. 70 and 80
& 3. 40 and 50
X 4. 50 and 60

Question ID : 8161614582
Status : Answered
Chosen Option : 1

(29)
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Q.16 By selling two articles, each for T270. a shopkeeper gains the cost price of one article. The cost price of one article and
the profit percentage, respectively, are:

Ans 1
X 1. 3225 and 33;%
1
X 2. 3180 and 33;%
& 3. 3225 and 50%
v 4 180 and 50%
Question ID : 8161614568
Status : Answered
Chosen Option : 4
Q.17 . tan9°tan23°tan60°tan67°tan81®
What is the value of s B Soia R
cosec=72°+ cos-15°—tan“-18°+ cos5-75
Ans x 1
A r—
243
¢2. E
2
Xa =
RE
X 4 24/3
Question ID : 8161614581
Status : Not Answered
Chosen Option : --
Q.18

If V8x® + 3v/3y® = (Ax? + By?)(Cx*+ Dx2y?+ 3y*). then the value of% is:
Ans %1242
W2 V2
X343
X 4.3 v’g

Question ID : 8161614575
Status : Not Answered
Chosen Option : ==

(26)
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Q.19 Ais 35% more than B, B is 25% less than C and C is 20% more than D. Which of the following is true?
Ans X 1. Cis 1.5% less than A

& 2 D is 10% more than B

v 3 Ais 1.25% more than C

& 4 Dis 21.5% less than A

Question ID : 8161614566
Status : Not Answered
Chosen Option : ==

Q.20 InAABE.D and C are the points on sides AE and EB, respectively. such that DC || AB. IfFAD =4 cm, BC =5 cm. DC =
10 cm and AB = 15 cm, then the sum of the lengths of DE and EC is:

Ans X 1. 20.cm
X 2 15cm
X 3 2lcm
v 4 18 cm

Question ID : 8161614579
Status : Answered
Chosen Option : 1

Q.21 Two-third of a certain number of items are sold at 35% profit, 25% of items are sold at 30% loss and the remaining at
5% loss. What is the overall profit or loss percentage?

X 1. Profit, 13?%

Ans

7< 2. No profit or loss

75 3. Loss, 12%%

W 4 Profit 15%%

Question ID : 8161614567
Status : Not Answered
Chosen Option : --

Q.22 Ina class, the number of boys is 40% more than the number of girls. The average score in mathematics of all the
students in the class is 55. If the average score of girls is 35% more than that of boys, then what is the average score in
mathematics of girls?

Ans x 1. 64
X2 624
X 3. 60
v i o648

Question ID : 8161614562
Status : Not Answered
Chosen Option : ==
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Q.23 The ratios of acid and water in vessels A and B are 4 : 5 and 7 : 5, respectively. In what ratio should the contents of A
and B be mixed to get a solution containing 50% acid?

Ans X1 4:3
X22:3
Vs 3:2
X43:4

Question ID : 8161614569
Status : Not Answered
Chosen Option : ==

Q.24 Sstudy the below table and answer the question.

The number of students enrolled for a Vocational Course (VC) in Institutes A, B, C, D and E during 6 years:

Year | 2014 | 2015 | 2016 | 2017 | 2018 | 2019
Instituf

A 108 116 120 132 | 128 146

B 122 127 128 136 143 144

[+ 146 141 148 145 174 | 206

D 135 142 158 152 160 193

E 149 154 | 156 178 | 212 | 211

The total mumber of students enrolled in VC in Institute A in 2014, 2016 and 2017 is what percentage of the total

number of students enrolled in VC in all the five institutes in 20197
Ans X 1. 30%
X 2. 45%
V'3 40%
X 4. 359%

Question ID : 8161614584
Status : Answered
Chosen Option : 3

_— —_— —_ —_— = = = ==

. oan 1s to be paid back in two equal annual instalments each of <2. . e rate of interest 1s 0 p.a., Compo
Q.25 Aloan is to be paid back i al | instal h of 32,523, If th f i is 16% unded
vearly, then the total interest paid in this scheme is:

Ans  of 1. 3996
X 2. 3986
& 3. 3990
K 4 T968

Question ID : 8161614571
Status : Answered
Chosen Option : 2

Section : General Awareness

(28)



Shashi Verma
Sticky Note
None set by Shashi Verma

Shashi Verma
Sticky Note
MigrationNone set by Shashi Verma

Shashi Verma
Sticky Note
Unmarked set by Shashi Verma

Shashi Verma
Sticky Note
None set by Shashi Verma

Shashi Verma
Sticky Note
MigrationNone set by Shashi Verma

Shashi Verma
Sticky Note
Unmarked set by Shashi Verma


Q.1 The smallest bone called stapes (or stirrup) found in the human body is located in the:
Ans x 1. eustachian tube

25 2. helix
x 3. external or outer ear

“ 4. middle ear

Question ID : 8161614594

Not Attempted and
Marked For Review

Chosen Option : ==

Status :

Q.2 The Inter Tropical Convergence Zone (ITCZ) is a zone located at the equator
where trade winds converge, and so, it is a zone where air tends to ascend.

Ans x 1. high pressure
x 2. zero pressure
x 3. sub-zero pressure

J 4. low pressure

Question ID : 8161614598

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.3 Where did the last Mughal emperor, Bahadur Shah Zafar, die?
Ans x 1. Chittagong

X 2. Delhi
« 3. Rangoon
x 4. Agra

Question ID : 8161614600
Status : Answered
Chosen Option : 2

Q.4 Who among the following has authored the novel 'Milkman', which won the Man
Booker Prize 20187

Ans x 1. Claire Adam
f 2. Anna Burns
x 3. Bob Woodward

x 4. Sally Rooney

Question ID : 8161614603

Not Attempted and
Marked For Review

Chosen Option : ==

Status :
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Q.5 Who among the following have been named the joint winners of the 2019 Booker Prize
after the judges broke their rules by declaring a tie?

Ans « 1. Margaret Atwood and Bernardine Evaristo
x 2. Chigozie Obioma and Bernardine Evaristo
x 3. Margaret Atwood and Salman Rushdie

x 4. Bernardine Evaristo and Salman Rushdie

Question ID : 8161614605
Status : Answered
Chosen Option : 1

Q.6 Who among the following became the first Indian to win the Miss Deaf World title?
Ans  of 1 vidisha Baliyan

75 2. Arunima Sinha
x 3. Raghavi Shankar

x 4. Preethi Srinivasan

Question ID : 8161614589

Not Attempted and
Marked For Review

Chosen Option : ==

Status :

Q.7 In which one of the following geographical regions of India was 'Rat-Hole Mining'
prevalent until it was declared illegal by the National Green Tribunal?

Ans « 1. North-east
x 2. South-west
x 3. North-west
x 4. South-east

Question ID : 8161614597
Status : Answered
Chosen Option : 1

Q.8 Who among the following introduced the Permanent Land Revenue Settlement of
Bengal, which was later extended to the provinces of Bihar and Orissa?

Ans X" 1 Lord Minto
x 2. Lord Wellesley
o 3. Lord Cornwallis

X 4. Lord Lake

Question ID : 8161614599
Status : Answered
Chosen Option : 1

(30)
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Q.9 Gloria Arieira, a recipient of the Padma Shri award in 2020, belongs to:
Ans x 1. Argentina

x 2. Spain
o 3. Brazil
X 4.UK

Question ID : 8161614604
Status : Not Answered
Chosen Option : --

Q.10 Which of the following is among the 'pull factors of migration'?
Ans  of 1 security of life

x 2. Unemployment
x 3. Poor living condition

x 4. Unpleasant climate

Question ID : 8161614596
Status : Answered
Chosen Option : 1

Q.11 Which of the following fall under phylum Arthropoda of the animal kingdom?
Ans x 1. Jellyfishes

“ 2. Crabs

x 3. Starfishes

x 4. Oysters

Question ID : 8161614591
Status : Not Answered
Chosen Option : --

Q.12 Which of the following countries has been confirmed as the first co-chair of the
Governing Council of India-led global Coalition for Disaster Resilient Infrastructure
(CDRI)?

Ans  of 1. United Kingdom
x 2. Japan
x 3. Germany

x 4. France

Question ID : 8161614590
Status : Not Answered
Chosen Option : ==
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Q.13 Dyarchy was introduced in the provinces of India in accordance with the provisions of
the:

Ans X" 1. Indian Councils Act of 1892
J 2. Montague-Chelmsford Reforms of 1919
x 3. Minto- Morley Reforms of 1909

x 4. Government of India Act of 1935

Question ID : 8161614602
Status : Not Answered
Chosen Option : ==

Q.14 Which of the following is the Indian Government’s apex cultural body in the field of
visual arts in India?

Ans x 1. National School of Drama
x 2. Sangeet Natak Akademi
/X 3. Sahitya Akademi

W 4. Lalit Kala Akademi

Question ID : 8161614587
Status : Answered
Chosen Option : 4

_———
Q.15 The Cricket Advisory Committee (CAC) of the Board of Control for Cricket in India
(BCCI) appointed as the new Chief Selector of team India on 4 March 2020.

Ans  of 1. Sunil Joshi
x 2. N Srinivasan
x 3. Anurag Thakur
#< 4. shivial Yadav

Question ID : 8161614609
Status : Answered
Chosen Option : 2

Q.16 The Indira Gandhi National Centre for the Arts (IGNCA) was constituted and registered
at .

Ans  of 1 New Delhi

75 2. Mumbai

x 3. Kolkata

X 4. shimla

Question ID : 8161614585
Status : Not Answered
Chosen Option : --
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Q.17 Which of the following parliamentary committees scrutinises the appropriation and
finance accounts of the Government of India and reports of the Comptroller and
Auditor-General of India?

Ans X" 1. The Estimates Committee
x 2. Ad Hoc Committees
75 3. The Committee on Public Undertakings

“ 4. The Public Accounts Committee

Question ID : 8161614608
Status : Answered
Chosen Option : 4

Q.18 Which of the following is a temple in Jammu, dedicated to Lord Rama as an
incarnation of Lord Vishnu?

Ans X" 1. Akshardham

f 2. Raghunath
75 3.Birla
x 4. Dilwara

Question ID : 8161614586
Status : Not Answered
Chosen Option : --

Q.19 Ammonia is a compound with the molecular formula of:
Ans X" 1.N,0

75 2.NaHCO;

75 3. NaOH

W 4.NH,

Question ID : 8161614593
Status : Not Answered
Chosen Option : ==

Q.20 Which of the following cities set a Guinness World Record by lighting hundreds of
thousands of earthen lamps as part of the festival of Diwali in October 2019?

Ans “ 1. Ayodhya
x 2. Vadodara

x 3. Thanjavur

X 4. Rajgir

Question ID : 8161614588
Status : Answered
Chosen Option : 1
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Q.21 In which of the following states is the Chandoli National Park located?
Ans X" 1. Bihar

J 2. Maharashtra
7% 3. Uttarakhand

x 4. Telangana

Question ID : 8161614595
Status : Answered
Chosen Option : 1

Q.22 Evidence of the earliest ploughed field from the Harappan Civilisation was found at

Ans  of 1. Kalibangan
x 2. Bhagatrav
x 3. Dholavira

x 4. Surkotada

Question ID : 8161614601
Status : Answered
Chosen Option : 3

Q.23 Which is the hottest planet in our solar system with a surface temperature of over 450
degrees Celsius?

Ans X" 1. Saturn

f 2. Venus
x 3. Uranus

x 4. Neptune
Question ID : 8161614592
Status : Not Answered
Chosen Option : --
—_—eeee——— e ————— = ——— == =
Q.24 The Union Territory of Ladakh consists of district(s).

Ans o 1 two
X 2.six
75 3.0ne
75 4 four

Question ID : 8161614606
Status : Answered
Chosen Option : 4

(34)


Shashi Verma
Sticky Note
None set by Shashi Verma

Shashi Verma
Sticky Note
MigrationNone set by Shashi Verma

Shashi Verma
Sticky Note
Unmarked set by Shashi Verma

Shashi Verma
Sticky Note
None set by Shashi Verma

Shashi Verma
Sticky Note
MigrationNone set by Shashi Verma

Shashi Verma
Sticky Note
Unmarked set by Shashi Verma


Q.25 The State Emblem of India is an adaptation of the:
Ans « 1. Lion Capital of Asoka at Sarnath

75 2. Vaishali Pillar of Asoka
x 3. Sanchi Stupa

x 4. Allahabad Stone Pillar Inscription of Samudra Gupta

Question ID : 8161614607
Status : Answered
Chosen Option : 1
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